[ Efficiency vs vertpos |
0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

1.0

R s R ARRRNRARRNRRRRE RRRLY CAALS RALAN LARAN RARLN LAARN LALN

0.95 : : :
1072 107 1 10 10?

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/DQM_mkFit_time
Efficiend —— pQm_TT_ mkFit-DQM_time_mod

0.5 ; ; ; ; ;
e

) S s s s
R s e et e
e e e e
0.25F--+-esbeeeeedennenes e :
o
0.45F+toneiof

0.1+ -------

0.05F -+~ i
.0

R

0.95!

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]

L

iy

PO 5 0 5 10 15 20



	Contents
	Page 1


